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SOLAR TOWERS

The need to develop (1) energy is widely seen as a futuristic
technological challenge. In reality, some of the most effective ways of
harnessing (2) from nature are based on concepts that have existed
for donkey’s years. The wind turbine is an obvious example. Another — less well
known, but conceived almost a century ago — is the solar tower or solar
3) . Moreover, if the Australian company EnviroMission completes
an ambitious solar tower project in the New South Wales desert, the
4) could capture not just the sun’s rays but the public’s imagination
worldwide. The firm, is planning to construct a tower a colossal one kilometre
high. If built, it will be the world’s tallest structure by a (5) margin.

How it works.

A large glass enclosure is built, with a chimney at its centre. The sun heats
the enclosure, causing (6) of the air inside. At the top of the
chimney, the lower temperature and lower pressure due to the higher
) create a (8) differential known as stack effect. This
causes air to flow up the chimney. Electricity is generated by turbines at the
bottom of the chimney, which are driven by the (9) of air. The
bigger the area of glass and the taller the chimney, the greater the airflow and
the higher (10) the capacity.

IV. Tpancopmupyiime duanoe, coznacno obpasyy na c. 8:
DIALOGUE [L. = Lisa; C. = caller]
L.: Technical support, Lisa here. What’s the problem?
C.: Hi, Lisa. Well, I can’t open any email attachments.
L.: OK. How about the emails themselves? Can you open them all right?
C.: Yes, the emails are fine. But when I double-click on the attachments,
nothing happens.
L.: Well, your email program may be blocking the attachments.
C.: So what can I do?
L.: Open Tools — Options — Security. Try lowering your security level.
C.: OK. I'll try that. Thanks.

V. Hoobepume mexcm npogheccuoHanbHoll HANPAGIEHHOCIMU RO COOPHCAHUIO,
obwémom 5000 nevamuvix 3Hakos (npumepHo 2 neuamuvle CMpanuybl
popmama A4):

1) cocraBbTe Ha €ro OCHOBE TEPMHHOJOTHUECKHIl CIOBAph IO MPHHIIAILY
AHIJIO-PYCCKHE COOTBETCTBHS;

2) mepenmaiiTe Ha aHIVIMIICKOM sI3BIKE KpPATKOE COJEPIKAHHE TeKCTa
(summary) B 3—5 npemnoxkeHusix (B npui. A).
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Bapuanr 4

Buibepume coomeemcemeyouyio gopmy Gerund or Participle 1/11:
1. A lot of wonderful discoveries in the 20™ century were the
result of the intense work of Russian scientists.

a) making b) having been made ¢) made

2 heat to a substance won’t always case rise of its temperature.
a) Having added b) Added c) Adding

3. Once and if designed properly, the system is very flexible.

a) designing b) having designed ¢) designed
4. Minerals and rocks are subjected to a process of constant development
on geological conditions.
a) depending b) depended ¢) being depended

5. into chemical reactions elements entirely change their
properties.
a) Having gone b) Gone ¢) Going

6. When , cold masses of air chill warmer air masses.
a) moved b) moving ¢) being moved

7. They objected to the talks without all the colleagues

presented.
a) being held b) holding ¢) having held
8. Itis a common observation that bodies expand when
a) heating b) heated ¢) being heated
9. The exchange rate , the population has all reasons to keep
their savings in the local currency.
a) fixed b) fixing ¢) being fixed
10. new machines engineers pay attention to the conditions of
their utilization.
a) Designed b) Having designed ¢) Designing

Iepeseoume npeonosiceniis, codepiicaujie KOCeHHblE BONPOCHL, NACCUBHbIE

KOHCMPYKYUY, UHPUHUMUBHBIE HOpMbL:

1) The question whether the atom can or cannot be split up is known to
have interested scientists from ancient times.

2) The intention of the present work was to see whether a detailed study of
arange of alloys would reveal any regularities of behaviour.

3) Chemical methods of purifying water are given much attention to by our
scientists.

4) The use of metals is affected by the available ore resources, the cost of
extraction and refining, and the way in which they can be employed to
practical advantage.

5) It is not possible to obtain as high thermal efficiencies when furnaces are
fired with raw coal as with other means of firing, but these matters will
not be dealt with here.
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6) Retardation may be looked upon as negative acceleration.

7) When a concentrated clay suspension is allowed to settle, the clay will
occupy a volume, which is different from the original volume of clay.

8) There are many methods available for the measurement of magnetics
susceptibility. The choice of a method depends on the problem to be
solved.

9) There are crystals in which there appears to be two types of interatomic
attraction acting at the same time.

10) Metals known to exist in more than one crystallographic forms are
cobalt, cerium, tin, manganese, chromium, and thallium.

11)We might synthesize water by allowing hydrogen and oxygen to
combine, which they do very readily.

12) X-rays have been of tremendous assistance to the engineer in enabling
him to work by knowledge instead of by rule of thumb.

13) Some mistakes must have been made in assembling the parts of the
machine. Chalk is made of the shells of little animals. They must have
been tiny things, for you can only see the shells with a very strong glass.

1I1. 3anonnume cmwicnosvie nponycKu 6 mexcme C‘.’lédyl()l,lﬂl,wll caosamu.
building, pump, valve, absorb, fluid, pressure, expansion, evaporator,
condenser, heated.

HEAT PUMPS

A heat pump is an electrical device that pumps heat from one place to
another. During cold weather, it extracts heat from the outside air, and transfers
it into the (1) . During hot weather, the heat (2)
reverses this operation, and transfers heat from inside the building to the outside.

The machine is based on the two principles of the refrigeration cycle:
(1) when a gas is compressed, it condenses, and gives out heat, and (2) when a
liquid is expanded, it evaporates, and absorbs (or takes in) heat.

The main parts of a heat pump are a compressor, an expansion valve, two
fans, a reversing (3) and two sets of coils, one on the outside and
the other on the inside of the building. The coils are thin pipes which are bent in
a U-shape many times, they can (4) and give out heat.

The compressor pumps a special fluid called a refrigerant around the
coils. The refrigerant is under high (5) as it flows from the
compressor to the condenser. As the (6) passes around the
condenser coils, it gives out heat to the surrounding air. The fluid then passes
through the (7) valve. Here the pressure is suddenly reduced and
the fluid expands. This makes it evaporate. As the fluid passes around the
evaporator coils, it absorbs heat from the surrounding air, making it cold. Then
the fluid flows back to the compressor.

HEATING OPERATION

In cold weather, the outside coil acts as the (8) and the inside
coil acts as the (9) . The fluid in the evaporator is under low
pressure, and so it evaporates. The fan pulls the outside air over the evaporator
and the fluid absorbs heat from it. The compressor then pumps the heated fluid
into the building under high pressure to the condenser. The second fan blows air
over the condenser, and the (10) air is blown into the building.

IV. Tpancopmupyiime ouanoe, coenacro obpasyy nac. 8:
DIALOGUE [L. = Lisa; C. = caller]
L.: Technical support, Lisa here. What’s the problem?
C.: Hi, Lisa. Bill here. I’ve set up a wireless router in the next room to my
computer. But I can’t get a connection between the router and the computer.
: Aha. How far is the router from the computer?
: It’s only about eight metres away.
: Well, another electronic device could be interfering with the connection.
: What kind of device?
: It could be a cordless phone, a microwave oven, anything really. Do you
have a cordless phone?
C.: Yes, I’ll check it now. Thanks.

Caraor

V. Hoobepume mexcm npogheccuonanbHoll HanpasieHHOCmy no CoOePICANUIO,
obvémom 5000 nevammvix 3naxos  (npumepno 2 nevammvle cmpanuivi
opmama A4):

1) cocTabTe HA €ro OCHOBE TEPMUHONOIHYECKHH CIIOBApH MO MPUHIMITY
aHTJI0-PYCCKUE COOTBETCTBHS;

2) mepesalite Ha aHIIMHCKOM S3BIKE KPATKOE COJEpIKAHUE TEKCTA
(summary) B 3—5 npeaioKeHusx (B mpui. A).

Bapuant 5
L. Buibepume coomsemcmsyiougyio goopmy Gerund or Participle 1/ IT:
1. When , the information may be of some interest.
a) Corrected b) correcting ¢) having corrected

2. At the end of the experiment they could provide their report on all
necessary data, including the number of tests they run, the amount of
time for those tests, and the number of samples
a) required / selected
b) requiring / selecting
¢) being required / being selected

3. Such result may be accounted for by their the experiment in
the middle of the year.
a) starting b) having started ¢) being started
4. The engineer improved his report by its closing paragraph.
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